
Name 021 Bezeichnung 1 Ausführung Maschine

15.311.202.01 Wendel-Radbolzen M20x1,5x62 GB 30/5-2

15.311.530.02 Wendel-Radbolzen M22x1,5x68 GB 30/5-2

15.311.530.03 Wendel-Radbolzen M22x1,5x86 GB 30/5-2

15.311.530.04 Wendel-Radbolzen M22x1,5x105 GB 30/5-2

15.311.530.05 Wendel-Radbolzen M22x1,5x110 GB 30/5-2

15.311.530.11 Wendel-Radbolzen M22x1,5x91 GB 30/5-2

15.311.539.01 Wendel-Radbolzen M22x1,5x89,6 GB 30/5-2

15.311.539.02 Wendel-Radbolzen M22x1,5x86,9 GB 30/5-2

32.460.237.11 6kt.-Schraube mit Bund M18x180 GB 30/5-2

31.470.265.03 6kt.-Schraube mit Bund M20x2,0x104 GB 30/5-2

18.715.205.01 PEINER Ripp-Schraube M16x25 GB 30/5-2

18.715.205.03 PEINER Ripp-Schraube M16x75 GB 30/5-2

18.715.209.01 PEINER-Rippschraube M20x45 GB 30/5-2

18.715.211.01 PEINER Ripp-Schraube M16x45 GB 30/5-2

18.715.212.01 PEINER Ripp-Schraube M16x75 GB 30/5-2

18.715.216.01 PEINER Ripp-Schraube M16x85 GB 30/5-2

18.715.218.01 PEINER Ripp-Schraube M16x40 GB 30/5-2

18.715.222.01 PEINER Ripp-Schraube M16x60 GB 30/5-2

18.720.205.01 6kt.-Sicherungsschraube M16x040 GB 30/5-2

18.720.205.02 6kt.-Sicherungsschraube M16x060 GB 30/5-2

0901.1.16.025 PEINER Ripp-Schraube M16x25 WN 83130-1 Ripp-Schraube GB 30/5-2

0901.1.16.030 PEINER Ripp-Schraube M16x30 WN 83130-1 Ripp-Schraube GB 30/5-2

0901.1.16.035 PEINER Ripp-Schraube M16x35 WN 83130-1 Ripp-Schraube GB 30/5-2

0901.1.16.040 PEINER Ripp-Schraube M16x40 WN 83130-1 Ripp-Schraube GB 30/5-2

0901.1.16.045 PEINER Ripp-Schraube M16x45 WN 83130-1 Ripp-Schraube GB 30/5-2

0901.1.16.050 PEINER Ripp-Schraube M16x50 WN 83130-1 Ripp-Schraube GB 30/5-2

0901.1.16.055 PEINER Ripp-Schraube M16x55 WN 83130-1 Ripp-Schraube GB 30/5-2

0901.1.16.060 PEINER Ripp-Schraube M16x60 WN 83130-1 Ripp-Schraube GB 30/5-2

0901.1.16.065 PEINER Ripp-Schraube M16x65 WN 83130-1 Ripp-Schraube GB 30/5-2

0901.1.16.070 PEINER Ripp-Schraube M16x70 WN 83130-1 Ripp-Schraube GB 30/5-2

0901.1.16.075 PEINER Ripp-Schraube M16x75 WN 83130-1 Ripp-Schraube GB 30/5-2

0901.1.16.080 PEINER Ripp-Schraube M16x80 WN 83130-1 Ripp-Schraube GB 30/5-2

0902.1.16.075 PEINER Ripp-Schraube M16x75 WN 83130-1 Ripp-Schraube GB 30/5-2



0903.1.16.040 PEINER Ripp-Schraube M16x40 WN 83130-1 Ripp-Schraube GB 30/5-2

0903.1.16.050 PEINER Ripp-Schraube M16x50 WN 83130-1 Ripp-Schraube GB 30/5-2

0903.1.16.055 PEINER Ripp-Schraube M16x55 WN 83130-1 Ripp-Schraube GB 30/5-2

0904.1.16.035 PEINER Ripp-Schraube M16x1,5x35 WN 83130 Ripp-Schraube GB 30/5-2

0904.1.16.045 PEINER Ripp-Schraube M16x1,5x45 WN 83130 Ripp-Schraube GB 30/5-2

0952.1.16.025 PEINER Sperrzahnschraube M16x025 Tensilock-Schraube GB 30/5-2

0952.1.16.030 PEINER Sperrzahnschraube M16x030 Tensilock-Schraube GB 30/5-2

0952.1.16.035 PEINER Sperrzahnschraube M16x035 Tensilock-Schraube GB 30/5-2

0952.1.16.040 PEINER Sperrzahnschraube M16x040 Tensilock-Schraube GB 30/5-2

0952.1.16.045 PEINER Sperrzahnschraube M16x045 Tensilock-Schraube GB 30/5-2

0952.1.16.050 PEINER Sperrzahnschraube M16x050 Tensilock-Schraube GB 30/5-2

0952.1.16.055 PEINER Sperrzahnschraube M16x055 Tensilock-Schraube GB 30/5-2

0952.1.16.060 PEINER Sperrzahnschraube M16x060 Tensilock-Schraube GB 30/5-2

0952.1.16.070 PEINER Sperrzahnschraube M16x070 Tensilock-Schraube GB 30/5-2

0952.1.16.080 PEINER Sperrzahnschraube M16x080 Tensilock-Schraube GB 30/5-2

0952.1.16.090 PEINER Sperrzahnschraube M16x090 Tensilock-Schraube GB 30/5-2

0955.1.16.055 PEINER Sperrzahnschraube M16x1,5x055 Tensilock-Schraube GB 30/5-2


